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L. ¥ill in each of the following blanks with a proper word so that the passage will
make sensc linguistically, 10%

il.

1,

2.

S

Those laws which pertain to all human languages, representing the universal
properiies of language, constitule what may be called a -
The study of the physical characteristics of speech sounds is called

—_—

- ..

. In an urea where divergent languages are spoken when people of different

groups desire social or commercial communication, one language is often
used by common agreement. Such a language is called a

. Tubuo words and acts give rise to _, which are words or ph;is::s which

replace the expression to be avoided. " Powder room®” used to repiace "toilel”
15 a good exampla.

- If'the symbol © stood for sun in Lnglish, it can then be used in a sentence like

My = 1s a doctor. This sentence is an example of the principle,

- When speakers of English, instead of the earlier plural kine, start to S&Y COWS

as Lhe pivral of cow, due probably o parallels such as foeffoes, dog/dogs. This
kind of change iz either called internal borrowing or

. Hakka, Mandarin, Burmes: and Tibetan are some Iangugét:s-that belong to the

language famity known as the

. The brain is divided into two parts, one on the lefl and one on the right. Each

part 1s called a

I an _ lﬂngllﬂgﬂ,“ﬂﬂé morpheme equals one word. Chinese, which is
characterized by a lack of derivational and inflectional processes is such a
language.

1t} The (irst utterances of children which are lenger than two words have a

special characteristic. Usually the small "function” words such as to, the, can,
is, and 50 or, ate missing; only the words which carry the main message - the
“vontent” words - occut. Such nilerances are calted

Distinguish the following pairs of terms, giving illustrative exarnples wherever
relevent. Choose any five. 20%

L.

2
3
4
5
f
7

Exocentric vs. endoceniric constriction

Pidgin vs. creole

Assimilation vs. dissimilation

Top-down vs. botiom-up processing
Syllable-writing system vs. Word-writing system
Broca's aphasia vs. Wernicke's aphasia
Derivational vs. inflectional morpheme
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HI. Southern Min in Taiwan has twenty initizl consonants. The [ ullowing chart

presents

these consenants according to their phonetic features. Please complele

the chart by filling the blanks. 10%

i labial | voronal | [ glotl |
voiced "5 i g T

| slowpy | unaspirated | P t k i
voiceless | aspirated s . v W ;

3 T Nsicclass unaspitaled ' ts
- - ES[:IT[-H'E{:C[ ) e

hasal vaieed ] . m"_ o g

ficative | voived z
hmjcelr:s.-.:.r. 5 ho

“g_-,]iae voiced ' 5 v i |

IV. The foliowing sentences make certain presuppositions, What are thev? 10%

{1} Please take me out 1o the ball game again

(2) That her favorite students failed in the exam made her sad.

(3) Isn'T 1t strange that the United States invaded Cambodia in 19707
(4) Who discovered America in 14927

(5) When did he stop beating his wife?

V. In Old English, the six sentences in (1) were ail grammatical and they all mecant
“The man slew the king " Ju Modem English, there is only one gramimatical way
to express the same idea as in (2). Explain in some detail what has happened to
English during the course of its evolution that has reduced drastically its word
order pozsibilities. What does this particular incidence tell us about the WS
grammatical retations such as subject, objoct are shown universally? 13%

(1) a. Se man sloh bone kyning.
b. pone kyning sloh se man.
€. 3¢ man pone kyning sloh.
d. bone kyning se man sioh.
¢. Sloh se man pone kyning.
1. Sloh bone knyving se man,

(2) The man slew the king.
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V1. Each of the following statements represents a misconception associated with
langzage. Wrile a short paragraph to argue against each proposition.  15%

1. Language change means corription.

2. Chuldren learn their language by imitation.

Vil. Examine the following words of Tongan, a Polynesian Langunage, {Note: In
‘Tonpan all syllables end in a vowel) 15%

tauhi "o take carg'  sino ‘body’

3181 - 'purland’ toionn  ‘comect

motw "1siand’ pasi ‘o clap'
mosimosi  'to drizzle’ fata. 'shelf’
motomoie  'ungipe’ maovete  'to come apart’
fesi 'to break’ s 'to dream’

{1} On e basis of these data, deterrine whether [s] and [t] are allophones of a
single phonente in Tongan or are distinet phonemes. If you find that they are
allophones of the same phopeme, state the rule that describe where each
allophone occurs. 1t you conclude that they are different phonemes, justify
FOur answer.

(2} [n each of the following Tongan words, one sound has been replaced by a
Blank. T'his sound is cither [s] or [1]. Without more knowledge of Tongan
that you could figare out from (1}, is it pussible to make an educated guess
as to which ol these two sounds fits in the blank? 1f so, provide the sound; if
not, cxplain why.

ik 'fishing net' [e 2 Tamp'
_uku  to place’ lama "0 ambush’

(3} In the course of this century, Tongan has borrowed many words from English
and has adapted them to fit the phonological structure of ity words.

kaasete  'pazette S "shoe
tisi "dish’ koniseti  'concert'
sosaicti - 'society’ pata ‘aitter’
salfali 'salad' suka ‘sugar’
maasolo  'marshall’ sikaa "ol gar’

sekoni 'second' limani  'diamond
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How does (the phonenne staus of |s] and [t] differ in borrowed words and in
native Tongan words? In other words. 15 the situation the same n these
borrowed words? Write an inlegrated stalement about the status of [s] and t]
in Tangan. {Hint: Your statement will have 1o include information about
which ares of the Tongan vovabulary each part of the rle applies to.)

VIII. Explain in your own words why the sentence given by DENNIS THE
MENACE in the following carteon is not a coniradiction. 3%




